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Surveying and Linear Measurement
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Theodolite, Compass and
Traverse Surveying
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4 Civil Engineering ® Surveying

m Conventional Questions ]

MRDE ERSY

Solution : 1
(i) 20°, 2°E,

M Tlne [ FB | BB
PQ | 52° | 232°
QR | 142° | 302°
RS |207° | 27°

SP | 312° | 132°

Solution : 2
Magnetic Bearing True Bearing
Line FB BB FB BB
PQ 16° 45 163° 15’ 13° 159° 30’
QR 103° 15’ 283° 15’ 99° 30 279° 30’
RP 343° 15 163° 15 339° 30’ 159° 30
Solution : 3
29.79m
Solution : 4
(WCB)g = 152° (WCB)pg = 296°
(WCB)cp = 224° (WCB)g, =8°
(WCB), = 116° (WCB),, = 152°
Solution : 5
42952.07 m?
Solution : 6

Length=187.85m
Direciton of BA = 294°50’

Solution : 7

ZCDE =96° 45
(Length of CD = 180.19 m, Length of DE = 221.76 m)
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Levelling, Contouring and
Plane Table Surveying
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6 Civil Engineering

Solution : 1
(a) 125.58m
(b) 0.069m
(c) 0.04152°

Solution : 2
(a) 28.47m
(b) 10.26 km

Solution : 3

® Surveying

m Conventional Questions ]

(a) Reduction of levels by rise and fall method:

(b) 35.296m
(c) 35.605m

BS IS FS Rise Fall | RL Remarks
1.143 34.223 BM 34.223
1.765 0.622 33.601
2.566 0.801 32.800
1.390 3.819 1.253 31.547 cP
1.390 0.872 30.675
0.664 1.598 32.273
3.722 0.433 | 0.231 32.504 CcP
2.886 0.836 33.340
1.618 1.268 34.608
0.616 | 1.002 35.610 TBM 35.290
6.225 4.868 | 4.935 35.610 Checked
(-)4.868 (-)3.548 (-)34.223
1.387 1.387 | 3.548 1.387
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Trigonometric Levelling, Tacheometry
Hydrographic Surveying, Curves, Tides,

Triangulation

[11. {0
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m Conventional Questions ]

Solution : 1
172.60m

Solution : 2

4499 m,
Solution : 3

0.385, 0.63, 0.875

Solution : 4
(i) 335.8m
(i) (RL); =457.26 m, (RL), =457.635m
(i) 1in895.47
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Area and Volume,
Accuracy and Errors

m Conventional Questions ]

Solution : 1
(@ 1219m?
(b) 1230.3m?
Solution : 2
V =14683.3 m3
Solution : 3
(i) 601.67 ha-m
(i) 91.273m
Solution : 4

Area = 61506.3825 m?
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Field Astronomy, Photogrammetic
Survey, Remote Sensing & Geology

m Conventional Questions ]

Solution : 1
65°10°, 45°30’

Solution : 2
110° 577

Solution : 3

545m

Solution : 4
17.5mm, 857.34m

Solution : 5
545.16 km

Solution : 6
H=4950m, N,=22, N,= 31
N =682, Ground disance = 1200 m

Solution : 7
2725m

Solution : 8
(Azimuth)g = 14° 53
(Azimuth), = 32° 40

Solution : 9

2532.2m
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